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Priority order for the heterocyclic compounds is always started from heteroatom-

a. O>N>P>5>5j b. N>O>P>5>Si
c. O>P>N>Si>S d. O>S>N>pP>Si
Furan on reacts with CHCI3/KOH gives
a. 2- Chloro furan b. Furfural
¢. 2-acetyl furan d. None of these
Acetylene reacts with H2S al 673K gives
a. Furan b. Thiophene
¢. Pyridine d. Pyrrole
Molecular formula of Pyridine is
a. C4H5N b. C3H5N
c. C5H5N d. C5H4N
Chiral compounds are?
a. Super imposable mirror image b. Non- Super imposable mirror image
¢. Both d. NOTA
Which of the following compound have 2 chiral centres?
a. Lactic acid b. 2-butanol
¢. Tartaric acid d. Glyceraldehyde.
Which of the following is not a system of nomenclature for geometrical isomerism
a. Cis-lrans b. DL
CEZ d. Syn-Anti
How many conformational isomers are available for ethane?
a. 4 b. 6
(0 d. 7
In staggered conformation the torsional strain is --?
a. 0 b. 60
€ 1120 d. 90
Molecular formula of indole is-?
a. C8HIN b. CI919IN
¢. C7HS8N d. C8H90O
12]

USTM/COE/R-01



a:

Write the synthesis and

b. Azepines

Explain the meth
isomerism.

Write a note on cl




Long type questions

3
7) guestions /




